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Addizione (orizzontale)

Nome:

Risolvi ogni problema.

1) 48+2=

2) 2+1=

3 2+1=

4 63+6=

5) 48+39=

6) 8+2=

7) 107+3=

8 5+2=

9 37+12=

10) 103+17=

1) 9+1=

12) 675+ 136 =

14) 40+ 1=

15) 17+1=

10.

11

12.

13.

14.

15.

Risposte

1-10
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Addizione (orizzontale) Nome: Soluzioni
Risolvi ogni problema. Risposte
1) =
48 + 2 50 . 50
2) 2+1= 3 2, 3
3 3
3 2+1= 3
a 69
4) =
63+ 6 69 . g7
5 48+39= 87 6. 10
7 110
6) 8+2= 10
8 o/
7) =
107+ 3 110 . 49
8 5+2= 7 10. 120
11. 10
9 37+12= 49
12. 811
10) 103+17=
13. 4
1) 9+1= 10 14 41
15. 18
12) 675+ 136=
13) 3+1= 4
14) 40+ 1= 41
15 17+1= 18
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Addizione (orizzontale)

Nome:

Risolvi ogni problema.

Risposte

{

110
69

87 7
49 3

120
10

: ]] 1.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

48+2 =

2+1=

2+1=

63+ 6=

48 + 39 =

8+2=

107 +3=

S5S+2=

37+12=

103+ 17 =

10.
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